FMEA .

PFMEA

FMEA

FMEA
-1
-2
-3

FMEA
DFMEA (Design FMEA) FMEA -1
PFMEA (Process FMEA) FMEA -2
SFMEA (System FMEA) FMEA -3
Service FMEA FMEA -4
Process FMEA

PFMEA

PFMEA

PFMEA



PFMEA

( ) FMEA -1

FMEA

FMEA -2

FMEA -5

FMEA -6
FMEA / / /



10 1

« »
FMEA
FMEA -1

FMEA -2

« »

FMEA

FMEA

(RPN)



FMEA

' RPN

SPC

(SPC)

SPC



X R
X S
MR Chart -

LCL UCL



UCL=p +I 3 (p(1-p)/n)

p)

/ = P=d/n

3 B OGO e

/
.p p
LCL =p -3 (p(1-p)/n)



-P)
(1
3 np 5
L =np Tgnp(l_{:.)-k o)
LLJCCE:L=np+np2+.

= (Np1 |
np

| C, C;
2
/ K
Ck)
Co+ ...+
I +
=(C1
C

np



UCL=C+3 C

LCL=C-3C
(u )
C
)
u (
(n)
(U)
u-=
u-= /
UCL =u+ 3 (u/n)
LCL = u - 3(u/n)
u n
u=C/n
n C

U=(Ci+Co+...+C¢)/(ny+ny+ ... +ny)

UCL=u+3 (u/n)
LCL=u - 3(u/n)

(X R)

100 5 20 R 6 5 4 20



- 1K)
1 (K)
R R X
LCLr UCLr R
UCLgr:= Ds. R
LCLr= D3. R
. D, Dj;
N 2 3 4 5 6 7 8 9 10
D, 3.27 |257 (227 |211 (200 (192 |[1.86 |1.82 |1.78
D; * * * * * 0.8 0.14 10.18 |0.22
A, 1.88 |1.02 |0.73 |0.58 |/0.84 |0.42 |0.37 /0.34 |0.31
: X
UCLy = X + A, xR
LCL(X):X-A2 xR
R X
S X
R X S X
S
A
2




( 5)

1/3
23 5 4

14 12 11
1 %99
1 %50
2 %75
3 %88
) ( 4 %94
5 %97
6 %98
7 %99

SPC

( )
( )
%100
Process Capability
56
6R/d2 =0=R. R/dz o

/d;

Process Performance
S 56

(0s) .

© © N o o



S 6 Cp
Cp = (USL - LSL) / 68R/d2

Cp Cpk SPP
Pp = (USL - -
LSL) / 68
- Cpxk
Crx CPL CPU
Ppk
35 s
Cph<1 -
u-63 put+td 3
10000 27 Cp=1 -
USL LSL

L+83 p-83 Cp>1 -



MSA

(A ccuracy) -1

SPC -4



Pa)
(Trial) (rts

-10

(Resolution) ( ) -11

-12

-13

W ithin Part Variation)) -14

-15

(Variable)
(Attribute)
-2-4



(R&R)

(Stability)

(Linearity)

Stability(

'(Bias)

(las

3 T NGO e



MSA Bias

/
Co Cq
MSA
-1
( 25 ) 50 ( ) -2
)
(
-3
Xg = (1/n) 22X
Sg= ¥ (Xi_%g)°/ (n-1)
T=USL-LSL
Xm= L 2 I=1n
Xg  Xm
C.=(0.2T)/ 68S, C, = [0.15(65,)]/ 6, (155,)/S,

Ca= [0.5 X0.15(c,) — [Xg - Xon [1/3S,

Cy=[(0.1T) — | X, - X, |1/ 3s
2= LOIT) = [ Xy X []/ 35, = [(0.450, — [Xy— X []/3S,

1 1.33

65, 1




SPC
1.33 Co Cq

Coe Cy

(Linearity)

=R? -b -a =X (Bias)



Y=ax+b

a= [Xxy — (x Zym)] / [(Zx") = ((Zx)*/ m)]

b=2y/n—a [2x/n]

R*=[Xxy - (XxXy /) ]/ [2x" = ((Zx)°/ m)][Zy” «(Xy)*/ n]

%Linearity = | a | x 100

R2
R2
1-0.9
0.89-0.7
0.69-0.4
0.39-0.2
0.19-0

MSA

(RX)

Minitab

-3-4



1
2
3

1 1 10 5

1 2

5 ) 15 3

2 2

1

1 10 2

Western Electric



(Position Error)

(Noise )
Part to Part )
(Variation

~3-3-4

R&R

R EV= 5.15R / d,)
(m) d,
(9)

Xpie= max X —min X
AV= [5.15(Xpie / d2)] % = [(EV)? / n.1]



n Xpir / da EV

d, .
(g) (m) 2
[(5.15Xpip)/d>])* >>(EV)* / n.r
[(5.15Xpir)/ds ] AV=(5.15Xpir) / d;
<= (EV)’ / nr
R&R -
GR&R
R&R = (EV)’ + (AV)?
. 99 R&R

(RF) R&R

R&R% = (R&R / RF) x 100%
AV% = (AV% / RF) x 100%
EV% = (EV / RF) x 100%

0% <=
R&R% <=
20%

20% <R&R%
<=30%

30% < R&R
%




S, RF=5.150, 99

TV

TV= (R&R)’* + (PV)

Gp :Rp/d2

PV=515%0,=5.15x (R,/d)
PV% = [(PV) / (TV)] x 100%
d>

RF

SPC
SPC
RF

SPC

PV
TV.
(PV)
K 5.15/d,



GR&R

= [(PV) / (R&R)] x 1.41

« » (K

»

(Effectivenes)

I:)(miss) = (



P(FA)

_ p(FA)
B) -4
B = [P(FA)/[P(miss)]

B=1
B>1
B<1

1 24 5

2 18 4

3 12 3




0.8 0.9-0.8 0.9 E
0.1 0.1-0.05 0.05 P(Fa)

0.05 0.05. - 0.02 0.02 P (miss)

0.5 1.5 0.8.-0.5 1.2-1.5 1.2-0.8 B

R&R
/
/
R&R -5-4

R&R



QFD

(QFD)

: ( Benchmarking )

(QFD) -1-1



:(QFD) -2-1

(QFD)
QFD -3-1
QFD
. (QFD) -2
QFD
(PRODUCT PLANNING) ( )
(PRODUCT DESIGN)
(PROCESS PLANNING)
(P RODUCTION PLANNING) ( )
QFD
QFD
— -1-2
( )
’.:§§"2 .‘éd'i‘lj-‘t,, Sia

T(a b 51 5T)




FMEA

5 uda o s
(¢ sia 8\ 5f)

b)) G il

@y ol gl (sla

pad galituglyl B sdadiia

§ e Sa 025

' ( WHATs )

D FMEA
. (HOWSs)

QFD

.

(%M&JE&M)

QFD

-1-1-2



( WHATS )

' (H OWs)

>0 @

-3-1-2
(HOWS
%)
(3)
(1)
QFD
“4-1-2
).

-5-1-2



Q FD

Q FD . 5 1)

10

-1-5-1-2

-2-5-1-2

-2-6-2-2

-3-6-1-2



1/5

(
100
(m2 ...... J=1)
(n 2r=1m 2. J=1)
(12=1.. n)

112

-4-6-1-2
QFD

-5-6-1-2

-6-6-1-2

*100

-7-2-2
-1-7-1-2

i=l
= W_]
= Rij
=Ci



-2-7-1-2

*100

-3-7-1-2

DOE

-2-2

) QFD



FMEA

3-1-2

6-6-1-2 5-6-1
- -3-2

( )

( (oPC)
DOE
2-2

- -4-2

(



(MsA)
SPC

" PVC
" PVC



DOE

DOE









-1-6

a
I ] i
(n)
1 Y Yoo Yin Yi* Yix
Yor Yo2...... Yon Yox Yox
A | Ya1 Ya2 ceeee- Van Var Var
y y
i=12..a j=12...n
yij=n+ T+ Ej (1)
T; TNV Yij
Eij i 1
(%) &
1




>T,=0 (2)

Yix i Yix

Yo Yo
yir =2 Yij Yir = yr/n 1=12...a
N=an
a
2
Hy: Ti=T,=...=T,=
i=0 H1 . Tl (4)
u
4 N
SSFactor a-1 MSFactor MSE/FO = MSFactor
( ) SSe a(n-1) MSg
SSt an-1
Fy > Fa a-1 a(n-1)

-2-6




A B A (
n b B a
K
yijk ij
B
1 2 b
1 Y11 Y112 ««-Y11n Y121 Y122 <--Y12n Yib1 Yib2 «<-Y1bn
< 2
Y211 Y212 <+ Y210 Y221 Y222 << Y220 Y2b1 Y2b2 «<<Y2bn
a Ya11 Ya1z - Yamn Y2121 Yaz22 << Yaz2n Yab1 Yab2 c<<Yabn
yijk = u + Ti + Bj + (TB)ij + Eijk j=12...b
1=1,2,...,a k=12...n
(TB), | B B i A T, M
Eijk . B A
82
AB -3, B -2, A -1
yixt A
yij* i y¥* B
Fy
A | 884 a-1 MS,=SS,/ (a-1) Fo=MS,/ MS;
B | 5SS b-1 MSy=SSs / (b-1) Fy=MSs/ MS;
(AB) SSn (a-1)(b-1) MS.5=SSas/ (a-1) (b-1) | Fo=MS,s/ MSg




SSk ab(n-1) MS=SS;/ ab(n-1)

SST abn-1

SST=%X X Xy2ijk— (y2*** /abn)
SSA =% (y2I** /bn) - (y2*** /abn)
SSB =% (y2*;* /an)- (y2*** /abn)

n

SSSubtotals =% X (y2ij* /n) - (y2*** /abn)
SSAB = SSSubtotals - SSA — SSB

SSE = SST — SSAB - SSA —SSB
SSE = SST — SSSubtotals

F F

eij = yij - yi*

-1-7




(

eijk = yijk - yij*

%25



